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v /RFN�\RXU�YHKLFOH��LQFOXGLQJ�DOO�ZLQGRZV�DQG�
GRRUV��EHIRUH�OHDYLQJ�LW�

v 5HPRYH�DOO�YDOXDEOHV��RU�SXW�WKHP�RXW�RI�VLJKW�
v .HHS�\RXU�FDU�NH\V�RXW�RI�VLJKW�LQ�\RXU�KRPH�
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v 3DUN�LQ�D�ORFNHG�JDUDJH�
v 8VH�SDUNLQJ�LQIUDVWUXFWXUH�RU�DQFKRUDJH�SRLQWV�

ZKHUH�DYDLODEOH�
v 6HFXUH�WKH�KDQGOHV�ZLWK�D�VWHHULQJ�ORFN�
v 8VH�D�PDQXDO�ORFNLQJ�GHYLFH�VXFK�DV�DQ�DODUPHG�

GLVF�ORFN��'�ORFN�RU�FKDLQ�DQG�SDGORFN�
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v 8VH�D�ORFN�WR�VHFXUH�\RXU�VWRUDJH�XQLW�
v 'RQ
W�OHDYH�H[SHQVLYH�LWHPV�RQ�GLVSOD\�
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v 'RQ
W�OHW�DQRWKHU�YHKLFOH�IROORZ�\RXUV�LQWR�WKH�JDUDJH�
v 'RQ
W�OHW�VWUDQJHUV�LQWR�WKH�EXLOGLQJ�HYHQ�LI�WKH\�FODLP�

WR�EH�kORFNHG�RXWy�
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,I�\RX
UH�D�YLFWLP�RI�WKHIW��UHSRUW�LW�WR�WKH�3ROLFH�
$VVLVWDQFH�/LQH�YLD���� ����RU�SROLFH�YLF�JRY�DX�
,I�\RX�UHTXLUH�LPPHGLDWH�SROLFH�DWWHQGDQFH�RU�LI�\RX�
VHH�VXVSLFLRXV�DFWLYLW\��FDOO�7ULSOH =HUR�������

v /RFN�\RXU�PDLOER[�
v $UUDQJH�WR�FROOHFW�FUHGLW�FDUGV�LQ�SHUVRQ�
v 1HYHU�OHDYH�NH\V�RU�YDOXDEOHV�LQ�\RXU�PDLOER[�
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